
 

We think tree A is a 
Sycamore it definitely is a 
maple variety.  It stands 
next to an area of hard 
standing that may be 
suitable for a seating 
area. There are trees on 
two sides which would 
give some shade - a 
request from many.   
It is too close to the fence 
to be integrated into an 
MPU 
The scrubby Elder tree in 
the fence corner needs 
pruning.  

The fence needs replacing from this point on 

the North side as well as the Western 

boundary. 

We have identified 5 trees as 
suitable for integration into a 
natural MPU. They are all Alder. 

These numbered 1-5 are plotted 
in position on the plan. 

The remaining trees 6-14 are not 
accurately placed. 

14 is a large birch with a huge 
stump behind. 

11 is leaning 

12 leans at top and is spindly 

10 is puny and covered in ivy 

1. Girth 1m, lean 10°, has fork could be removed or integrated 

2. Girth 1m, vertical, no lower branches 

3. Girth 1m, lean 10° 

4. Girth 1.9m, straight trunk – the best tree! 

5. Girth 0.85m, has spindly lower branches can be removed 


